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(1) fistew First om 2Desos] ebide® eces C oo,

(11) C 8 o20® midm 31088 mdned De® 80 ependa.

(i) a=2 oo b=10 »® x=a+b+t e y=a+bom gmess’ BDiesind
Booidm Be®xf og x 2 Y 8 gdosl evses’ 98 So g,

(v)  (p>q && m<n) om gmeme oy O3es), dxdend p>q esms 850
BHEEHIS N<M eamB HOCS.

som § @f 95 o8 gmiemas? B8Diesind aocsim.
int a=3,b=4,c=2;

G) att-b-
(i1) b++/a--
(iii) ¢+ * —-a
(iv)+tb/c + -—-a

oD & ¢ O OF gmie eSS wem »S C gmiecs Basim.
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(¢) o5 fedn @080 semsim:

eddmewnned 010 ®E oo ©ms (hours) ey oemd eedm e (rate) Buiv, enda

@ 80 e (pay) omma mSsim. pay=hours*rate 30 wemsim. D8 BE 56 OS5
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(i) 9w® 000 D@0 088 wouvms alnis.
(i) 9188 ©0u» DE-.q C PeFdemd widxsim.
(a0) 0B G EDD mnoe sEmETm:!
printf(“%s\n”, number % 2? “The number is odd”: “The number is even”);

(i) 90D WD WO §B modmae (operator) m»H® WmSnTm.
(ii) 90D YEBEES ewddens emdast w88 mOsTH.
(iii) number = 9 @ 5@ gl w BHB=fe?

(iv) own gmo@as if-else vdm m»o8xT 5 0m Bwrsin.

(&) som weosd em Dedda BEDsD !

int x=1:
do
{
prlatf (™ Hd Y. g
X=X*2;

} while (x<40);

(i) o deidess aBgmae (output) eexim.
(i) owm efm dedddewd do while gmowas;

a) while gmiaa

b) for gmics 883 gledema momim.
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(a) oom ¢ @ gd® (array) gbd ¢80 wemsim:
int score[1l0];
char S51[10];
float item [3][2]={0,1,2,3,4,5};

oD (3D g O Of gDedGd wemo gy gEeas end Ymie ufuvas Easim.

(i) score gced 6 D gDVOBO 6 WD OB BDSBI.

(ii) score §ced g Bdewesd 8 wi@ims gowd (average value) &n &
aoesl eeam eama (count) mIsim.

(iii) S7 @c®d “Good” w» gow ©OIBIH.

(iv) SI acied adaimnad “Bye” am Dbme Omn mIsim.

(v) item om 800ed8 §deddE guwrsl C8unon ®OsIm.

vi) item o qado@@&i @cdm odBownd ©w ecdm BOEdE gdndced 15 um aow
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odleta il

(20) som T @18 oxtm d@mend glomns E8dn om »0slm. ¢ 8 ewxgd (address)
4940 ecesc d 8 ex@® 7772 oGt @0 comEOmE BE DD

char ¢ = 'T', d = 'S';
char *pl &c;

char *p2 &d;

char *p3;

p3 = &d;
printf (“*p3
p3 = pl;
pEEnEE(™*p3

%c\n”, *p3);

Il
o9

¢ Pp3 = gXY",.*p3, p3);

‘a\‘pl = *pz;
printf( “¥pl = %c pl

sX", *pl, pl);

(&) (i) esmmazyesom (recursion) esiems’ gewed Dles’ p@e?
(i) esemnmyomew (recursion) @8 g0l ecmz E18En o ©OBIH.

(&0) oD eufeds factorial 5H® § 00O (iterative) @mw wemsinm.

int factorial (int n)
(
int result=1l,i=1;
while (i<=n)
{
result*=i;
it++;
}

return result;

}
(i) eom g®dbd §ned @dws’ Hed® addwumdn p@nle?
(i) 9wm ggOBO Bme , eswomywom (recursive) gomwdwd sndn Swsim.
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(&) Structure ese» union ¢ GG emd BIDIS w EDHEDS exfdsim.

(q0) Bons! 850 son qfedn emdnd ¥ MEMBOD eEmd gdesd Hm.
Gus gome, 2B, B8me, ey e 5w Em ey @B,

(i) Bevmoed ¢ai» 0adh B39O0 gy el youwest ecsim.
(ii) Gensy 50 med emdnd; v BEOD eeey H)Bwon Gwdsmo wSHTH.
(i) sum d OB Hwo DO sem C gmmn:s Swxsis.

A.

B.
C.
D

v8ed?) Bgdied Bus gime yBem BFOD.
39 00 Byhed egdns g RBEDO.
8cedS Byded m® ggslecs wdnlmBs RGO,

. 21 008 Bgthed egddme 60 g¢&) 5O s®enss “Primary” oz

84d8e ghame A880,

@05 Byyhed Cmen wo@ims 8gf cad® edm@d DOw)
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(2) Bpwmd 80:88s5Y gows! ecen 8@ (passing arguments by value) e 368857
ow@0nf ece wi O (passing arguments by reference) g6 edme emSwxt 1928

WIsTD.

(o) Boodorm Be@=s 0530, vom T ¢} eom DeELens yhema Bosim.

int func (int a, Int b)

{

b *= 2;
printf("a = %d, b = %d.\n", a, b);
return --a * (b - 8);

}

int sub (int *a, int #*b)

L

*a -= 6;

printf("a = %d, b

d.\n", *a, *h);

return *a * ++*bh;

}

void main() {

int x =7, y = 9;
x = func(y, y):

printf("x = %d, y

#d. \n", %, v}

X = sub(&x, &y);

PEIAEF ("X

= 2d, y

sd.\n", x, y);
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(2) find max ©» §»<d numl, num2 &®» maxnum @ s6H88=3 HE a. 608
Bmend gdger dmed, numl e» num2 O geos’ c@renz numl e num2 8
co8®s maxnum 0 %8, ©c®fs DD abd ¢P0ds @das mo C
DBxst Bosim.

(@2) (i) S pOeEdem, 38m (static) Bdessied coewd@mde omdeesy 819EE
OB,
(i) 8200 #@n® OmmO D) ;A ¢DEdHDm vun g@Eednm sumlit v §newd
FerznBstDw o088 mosTn.

void sumIt()

{
static int sum=0;
int num;

printf (*\n Enter a Number:”);

scanf (“%d”, &num) ;

sum-+=num;

printf (“The current sum is: %d”,sum);
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